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PART -1

Women and Child
Development Department
Related Schemes and
Programmes

The cost norm for supplementary
nutrition for severely malnourished
children in Poshan 2.0 is-

A. Rs. 8/- per beneficiary per day
B. Rs. 12/- per beneficiary per day
C. Rs. 9.5/- per beneficiary per day

D. Rs. 10/- per beneficiary per day

The disease which is caused-Dy.
protein energy malnutrition:

A. Tuberculosis
B. Marasmus
C. Goiter

D. Angina

Aiger v oot foremme
Fervmr @ wratea T
TS HTAHA

qINT 2.0 el T FHa ==l o
e T STER o fereftar wToave 2-
A. 8%, fd fequme ufa faa

B. 12 % i sl 9id feT

G 9.5 %, ufar feamme e o=

D. 10 %. ufa fequmet ufa faa

SIE TFSHT HUTS0T o5 HROT bt €T fommdt
Bt 22

A. TREeiTEd
B. AUwHe
C. Tg

D. TASITET
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3 The prevalence of malnutrition in 3. U ufaR W wd-5 % AR

Chhattisgarh according to National @;ﬁwﬁ@rqﬁwaﬁaz%_
Family Health Survey-5 is-
A. 37.7% A 31.T%
B. 32.1% B. 32.1%
C. 31.3% C. 31.3%
D. 35.8% D. 35.8%
4 In how many districts of 4 wedraTe % e T § a9 T ST
Chhattisgarh one stop centre is garfera 82
functional?
A. 33 A 33
B. 28 R\
C. 27 C. 21
D. 25 D. 25

5. The population norm for openifi of S anfeaTel/aeTS &t i TSl
an Anganwadi centre in tribat/hilly QI o SHEEIT o HTUEUS &-
area is-

A. 400-800 population for one A. 400-800 3T SHEEAT | 3TTHTST

Anganwadi centre F% % fore

B. 300-800 population for one B. 300-800 sl SHE®AT | TS
Anganwadi centre g o fofu

C. i?ﬁog:xa%?rzzilr?tt:gn for one C. 400-700 T SHEEAT | TS
J %5 o foTg

D. 300-600 population for one . ‘

Anganwadi centre D. 300-600 & SHEEAT | ATHATE!

%3 o forg

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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In Chhattisgarh State the
expenditure norm under Mukhya
Mantri Kanya Vivah scheme is-

A. Rs. 25,000/- per girl
B. Rs. 50,000/- per girl
C. Rs. 40,000/- per girl
D. Rs. 30,000/- per girl

Which provision of the Chhattisgarh
Tonahi Pratadna Nivaran Act, 2005
prescribes about the order for
compensation to the victim?

A. Section 10
B. Section 11
C. Section 12
D

. Section 13

According to 2011 census data,
Child Sex Ratio in Chhattisgarh
State is-

A. 975
B. 964
C. 943
D. 956

BATETE TS shl HEIHAT w1 el o
=T HIIETS &-

A. % 25,000/- fd =T
B. &.50,000/- fd =
C. & 40,000/- Sfd =T

D. &. 30,000/ Ifd =

2005 hT I G JTIe A shi
TS & o TR o SR H STl 82

A. IR 10
B. ¥ 11
C. 9mr12

D. g 13

2011 3 SIEEAT % 3ATHST % STAR
SATEE U H ST [T 8-

A. 975
B. 964
C. 943
D. 956
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10.

Which one of the following
statement about “Mission Shakti” is
correct?

A

The component of “Samarthya”
consists of One Stop Centre,
Pradhan Mantri Matru Vandana
Yojana, Women Help Line

The component of “Sambal”
consists of One Stop Centre, Beti
Bachao Beti Padhao, Nari
Adalat

The component of “Samarthya”
consist of Pradhan Mantri
Matru Vandana Yojana, Beti
Bachao Beti Padhao, Nari
Adalat

None of the above

The only year in which malfutrition
increased from the previtousyear as
per data of Vajan Tyohar Is-

A

B.

2013-14

2014-15

2015-16

2016-17

10.

“firgr wifer” o Gagr d A G A R @1
T TET 87

A.

I T Gk, TR 71q e
ATSHT, Wi Ied AT “|mHed” &

Rk

I LT GeT, oY ST Sl Uere,
TR} JTETAd “Helel” 3 5 &

ST UGt AT ITeTAd “ETHE” &
CF &

SR H § IS T2l

I8 UHHTS I fSEH 9919 IeR

HhS! % ATER st oy i qorT |

A.

B.

C.

D.

2013-14

2014-15

2015-16

2016-17
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1. The amount of gratuity paid to 1. oefreme vea i StheTet Frieate 1
Anganwadi worker at retirement in Yarfafa 9t 2 Suter & Ui B-
Chhattisgarh is- :

A. Rs. 25,000/- A. ¥.25,000~
B. Rs. 1,00,000/- B. %.1,00,000/-
C. Rs. 50,000/- C. ®.50,000/-
D. Rs. 40,000/- D. &. 40,000/-

12, \which of the following districts 12, o0t & formr et  ereforall 3 forg eidvam
does not have observation home for TE T8 22
girls? )

A. Rajnandgaon K

B. Ambikapur B. 3:‘.%5'”3(
C. Jagdalpur C. SFEIqX
D. Raipur D. TaR

13- Under “Pradhan Mantri‘Matru 13, oqeprepeisft wirq dieT AT tata i
Vandana Yojana ", the cash AT o ST UL HTT3T T &1 ST aTeft
incentive given to mothers on birth FreemeT TRT -
of second girl child is-

A. Rs. 6000/- in a single instalment A. T FRETHE. 6000/-
B. Rs. 5000/- in two instalments B. &I foedi & &, 5000/-
C. Rs. 5000/- in a single instalment C. T frEa #%. 5000/-
D. Rs. 6000/- in two instalments D. SR T E. 6000/
SPACE FOR ROUGH WORK / T @t & forar srire
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14. Deficiency of which of the
following nutrients can lead to
anaemia?

A. lodine
B. Iron
C. Protein

D. Vitamin D

15.
from-

A. 1.4 2014
B. 1.4.2015
C. 1.1.2014

D. 1.1.2015

16 \which provision of the Juvenile

Justice (Care and Protection of
Children) Act, 2015 deals with
‘Foster Care’?

A. Section 43
B. Section 44
C. Section 45
D

. Section 46

Noni Suraksha Yojana was started

14. frerferfiad o & forer diwer dear o et &

16.

e B 82
A. FEEH

B. A

C. i\

D. foerfim — <

AT EeET AT T -
Al 4.2014%
B. 1.4.2015%
C. 1.1.2014%

D. 1.1.20159®

foReTIT =Ty (SITeTent <t q@TeT 37
weqon) rfarfaem, 2015 TR AT
T AT e & Fel 1o 87

A. 9T 43
B. 9144
C. 945

D. 9RT46
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7. \Which of the following is not a key 17, oy 1 & dror safirr o e wreen e
component of Poshan Abhiyan? 8-
A. g%?r?iqslgt]ii% based events A. GE STt TR
TS
B. Jan Andolan '
B. S TiaieH
C. Convergence among different
departments C. fafir= forvm o wear syfreor
D. Dist_ri_bution of supplementary D. T TS ST T RraT
nutrition =
18. " The revised cost of Anganwadi 18, Shes wrehme g AfreTe st Fmor 2
building construction which has )
been fixed by the Central et ot 78 ST e &-
Government is-
A. Rs. 10 lakh per Anganwadi A. %10 T i ST 1
Bhavan
B. Rs. 9.5 lakh per Anganwadi B. % 9.5 @ 5fd ¥ e
Bhavan
: C. & 12 @M@ fd AT Yo
C. Rs. 12 lakh per Anganwadi
Bhavan
D. & 11 9@ ¥fd e o
D. Rs. 11 lakh per Anganwadi
Bhavan
SPACE FOR ROUGH WORK / T @t & forar srire
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19, “Mukhyamantri Suposhan Yojana” 19 e d “TREHHAT GUTSOT A5
in Chhattisgarh State was launched I IBATT Te-
On- N ]
A. Oct. 02, 2020 A. 237 2020 %
B. Oct. 02, 2021 B. 2 ST 2021 I
C. Aug. 15, 2020 C. 15 3TT&T 2020 T
D. Aug. 15, 2021 D. 15 3T 2021 st
20 \Which district among the following 20 fop 3 & o foet  wefiepa axfrraey
districts has the highest number of Fal ! GEAT ATrhan 82
Anganwadi centre sanctioned?
A. Rajnandgaon A
B. Mahasamund B. HemHs
C. Kabirdham C. SheRg™
D. Durg D. &
SPACE FOR ROUGH WORK / T @t & forar srire
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PART - 11

General Mental Aptitude AT AT araar
& General Knowledge TS 9T {1
21 Find the number of triangles in the 21, &y g srrepfe # st < we 9@
given figure. Hifsmy
A. 8 A 8
B. 10 B® 10
C. 12 C. 12
D. 14 D. 14
22. \Who was the founder of Satnam 22.  FfreTe W GATH U % TS B 99

Panth in Chhattisgarh?

A. G- AT Il
A. Sundarlal Sharma

B. Thakur Pyarelal B. 3 ARTIE
C. Sant Guru Ghasidas Ji C. 7% STl g St
D. Vamanrao Lakhe D. ImId A

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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23.

24.

25.

In the following letter series, some
of the letters are missing which are
given in that order as one of the
alternatives below it. Choose the
correct alternative.

ado _ac__da__ cddcb_ dbc
chda.

A. cbbaa
B. bccha
C. cchba
D. bbcad

The ozone layer absorbs --------
A. Infrared Radiations

B. X-Rays

C. Gamma Rays

D. Ultraviolet Rays

Which campaign was launched
during the civil war in Sudan to
evacuate the Indian community?

A. Operation Kaveri

B. Operation Narmada
C. Operation Ganga
D

. Operation Krishna

23.

24,

25.

fferfia s1ar sitee H, Fo e
TS 8 S A i T fasem A 4w
&7 1 3T 3T ¥ fou e ) ot foehed
T

adb _ac_da__ cddcb_dbc
chda.

A. cbhbaa
bccha
cchba

bbcad

O O W

G H TegEa o G AT THa %
T 2! STeX (HehTet & i |1 A
AT TRAT AT

A. FTHEH FeT
B. T HaT
C. o T

D. TR FT

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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26.

27.

28.

Manuscripts of Ashok is in which
Language?

A. Pali
B. Prakrit
C. Sanskrit
D. Hindi

Arrange the words given below in a
meaningful sequence.

1. Family, 2. Community,
3. Member, 4. Locality, 5. Country

A 31,2 4,5
B. 3,1,2,5,4
C. 31,425
D. 3,1,4,5,2

Where will the 18™ summit of
‘G-20’ be held?

A. Indonesia
B. India
C. Brazil

D. Canada

26.

28.

3791 o AR forg T 7 22
A. dredt
B. SR
C. #&pd

D. fe=t

et T 7 wTeaT T |refek R H
SFTE il
1. 9@, 2. e, 3. 9eH,

4. AEeAT, 5.2

A. 3,1,2,4,5
B. 3,1,25,4
C. 31,425
D. 3,1,4,5,2

Sf1-20° =T 18 T FIReR T e et
gAY

A. TSR
B. W4
C. srsitet

D. shdteT

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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29.

30.

In each of the following questions,
various terms of an alphabet series
are given with one or more terms
missing as shown by (?). Choose the
missing terms out of the given
alternatives.

Z,5W,0,T,KQ,G,?7?
A. N, C

B. N,D

Woolen clothes keep the body warm
because --------

A. Wool absorbs radiant heatsfrom
outer objects

B. Wool is the bad conductor of the
heat so it does not allow heat to
flow out and keep it absorbed

C. Wool rejects heat from outer
objects

D. Wool increases the temperature
of the body

29.  fyeafarfiaa s wear H, SoteTa saer

30.

& fafr= ug fou mu 2 foes wep a erferss
S TH & ST ok (?) ST ST T 2
fe e forehed # | W 98 IHY

Z,S,W,0, T,K,Q,G,?7?
A. N, C
B. N,D
C. O,C

D. O,D

Il IS YRR Rl TH TEd & TN ---n--

A. S STEd TEGAT U A HoHT i
EENIECEERGIN

B. S ST 1 FHalTeish & FUITE I8
AT i TR 81 ST o 3 W
EENIIERRTC I

C. 3 aTedl TG § T hl eI
AT &

D. 3 YT T d19HH JQTdT
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31.

32.

33.

Select the number that can replace
the question mark (?) in the
following series.

5,10, 26, ?,122, 170

A. 82
B. 50
C. 65
D. 77

Arrange the words given below in a
meaningful sequence.

1. Key, 2. Door, 3. Lock, 4. Room,
5. Switch on

A 51,243
B. 4,2,1,5,3
C. 1,3,24,5
D. 1,2,3,5,4

Who will declare that a member of
Lok Sabha has become unsound
mind?

A. President

B. President with the advice of
Election Commission

C. Presiding Officer of the House

D. Competent Court

31.

3 HEAT o1 999 L SN FEfaiad
siEet ® 94 foeg (2) it wfaenfud
HehelT 2

5, 10, 26, ?, 122, 170

A. 82
B. 50
C. 65
D. 77

frer fow Tu sreaT Bt wrde A
Safrd i)
LS, 2. a3, AT, 4. A,

s\ 3

A. 51,243
B. 4,2,1,53
C. 1,324,5
D

. 1,2,3,5,4

I NG BT Tk AR T Teh He&g
fersper feret =T &1 1T 22

A. Teeufd
B. fratem st o urmst w aeeufa
C. U 1 Y3 Afrry

D. 9&H AT
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20382-GVP-JYLKH-REC-M

54 Set A




34 Who gets credit for invention of the
internet?

A. Robert E. Kahn and Vinton Gray
Cerf

B. Philip Diehl
C. William Sturgeon
D. Frederick Banting

35 The award given by the Government

of Chhattisgarh as a result of
outstanding achievements in the
junior category is-

A. Shaheed Kaushal Yadav Award
B. Ekalavya Award

C. Shaheed Pankaj Vikram Award
D

. None of these

36. Who'is popular as the Iron Man in

India?

A. Lokmanya Balgangadhar Tilak
B. Rajguru
C. Sukhdev
D

. Sardar Vallabhbhai Patel

34.

35.

36.

3T & STISHT BT 277 TR ST B2
A. T 3. e iR fofea o ah

B. fhfcd eea

C. fafoam wes

D. kel s

BTG THT G SR o] H Iche
SUATSLAT o Teeared &1 ST ATt
I -

A. R B AT [T

B. T TR

C. YIE Yokt fashH R

D. 3 & & Tl

TRA § ATey o AT § TT4es 8-
A. SHHT ST fictsh
B. TSR

C. ga=d

D. EER JoTvHTs e

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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37.

38.

39.

Which sector provides largest
employment in India?

A. Agriculture
B. Industry
C. Services

D. Manufacturing

What is correct about the Attorney

General of India?

(i) He can take part in the
proceedings of Lok Sabha and
Rajya Sabha.

(if) He can take part in the
proceedings of joint sitting of
both houses of Parliament.

A. (i) is correct
B. (ii) is correct
C. (i) and (ii) both are correet

D. (i) and (ii) both are Wwrong

How many goals are fixed for
Sustainable Development Goals?

A. 15
B. 16
C. 17
D. 18

37.

38.

39.

TR | I T &5 T TR U
T LT &7

A FY
B. M
C. &
D. fafmfor

AT & HeT=aradre o fow § o) s

27

(i) o ARG 3T TFTT Y
SFRIaTRT o 1T o ek 2

(1) I HHE % ST Hel shl I
SSF T 91T A HeheT 2

A ()a&re

B. (i) ¥&1?

C. (i) 3 (i) T &

D. (i) 3 (ii) ST Terd &

waq fosr oe 3 fore forae @ear
ECIGRE IR PR

A. 15

B. 16

C. 17

D. 18
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40.

41.

Which statement is false regarding
‘Chhattisgarhia Olympics 2023-24"?

A. It started with Hareli festival
B. There will be 16 types of sports

C. It will be organized at six levels
across the state

D. Urban Administration and
Development Department will
be responsible for organizing
events in rural areas

Following are some words translated
from a code language.

moolokarn means blue sky
wilkospadi means bicycle race
moolowilko means blue bigycCle

Which word could meah, “racecar”?
A. wilkozwet
B. spadiwilko
C. moolobreil

D. spadivolo

40.

4%

“TATTGAT IATATRIR 2023-24" o Gaiel
U e § 9§ i 91 R 3 2

A. TET TRV Blell AR |

B. $EW 16 YRR o W &Y

C. YT W H : T W EHT TS
D. SIS o1 STRied ATHIOT &1 §

TR TR U forenrg fearvmr &1
EﬁTlT

Teh ohe WTST § AT D Ied
Q 5 3 3
moolokarn %1 34 € blue sky
wilkospadi T SRR bicycle race
moolowilko T 314 € blue bicycle

forer s1o@ 1 379f “racecar” &1 HohdT 27

A. wilkozwet
B. spadiwilko
C. moolobreil

D. spadivolo

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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42.

43.

44,

Which statement is false regarding
“Unemployment Allowance Scheme
2023 in Chhattisgarh?

A. Rs. 2500/- unemployment
allowance per month

B. Minimum educational
qualification 12" Pass

C. Registration in employment
office 3 years ago as on 1% April

D. Annual income should not be
more than 2,50,000/- rupees

Who was the Mughal Emperor at the
time of the revolt of 18577

A. Babar

B. Bahadur Shah Zafar
C. Shahjahan

D. Akbar

The main source of energy in Sun is

. Nuclear Fusion

A

B. Nuclear Fission
C. Chemical Reaction
D

. Both Nuclear Fusion and Fission

42.

43.

44,

BATENG T SRS W= JISHT 2023° 6
HeieT T ohI9 |1 hU 3T 22

A. ITETE 2500/- . SIS o=
B. = &0k AT Sed are

C. 1 379 ol YSIR T § 3 99
qe ST G

D. a1f¥er 3T ¥ 2,50,000/- & 3Tferen
Tg

1857 o ToT51E o & T 3MT8eh i
9

A. IR
B. TG IITE ST
C. IMESial

D. 3T

D. TTHI] HeTd R forgeT e
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45. \Where is Chakradhar Samaroh 45 ooreR THTE et ST BT 27

organised?
A. TG
A. Raigarh
B. Kabirdham B.
C. Narayanpur C. TR
D. Balrampur D. STHIT
46. \Which letter will replace the 46 fCrmfafaa TRt § war faree & v W
question mark in the following i T ST&TT ST
figure?

® @ ®_ O
CNON6G ©_ @ ©
DMONONO ®©® @@
©@@@ @@@‘

A P AP
B. A B. A
C. N ¢ N
D. K D. K
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47.

48.

If A + B means A is the mother of
B; A — B means A is the brother B;
A % B means A is the father of B
and A x B means A is the sister of
B, which of the following shows
that P is the maternal uncle of Q?

A . Q-N+Mx P
B.P+Sx N-Q
C.P-M+NxQ

D. Q—S%P

What is correct about the resignation
addressed to-

(i) Speaker will address to Deputy
Speaker.

(i) Deputy Speaker will address to
Speaker.

(iii) Chairman of Rajya Sabha will
address to Deputy Chawman.

(iv) Deputy Chairman*ef\Rajya
Sabha will address to
Chairman.

A. (i), (i), (iii)
B. (i), (i), (iv)
C. (iii), (iv), (i)
D. (iv), (i), (ii)

47.

48.

aCA+BHIFALRA, BRI ATR;

A-Ba SR A, BHRIWER, A% B
At efr A, BRI fuara iR Ax B
w17t 2 T A, B i s R, Ffafaa
T O i 97 g91iar & foh P, Q &1 AT 27

A.Q-N+Mx P
B.P+Sx N-Q
C. P-M+Nx Q

D. Q—S%P

U TSI ohi o T 8§ Tl o)

a-

() T, fewdt Titet =t Traifera
AT

(i) et wfient, Tfiert T Tatifera
AT

(iii) TSTET T AITITT, STFATATT T
TSI T

(iv) TSIGT T STHHTI, T bt
GraIITere S|

A. (i), (i), (iii)
B. (i), (iii), (iv)
C. (iii), (iv), (i)
D. (iv), (i), (ii)
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49.

50.

Origin of Mahanadi is-

A. Rajim

B. Sihawa

C. Palari

D. Chandrapur

In each of the following questions,
various terms of an alphabet series
are given with one or more terms
missing as shown by (?). Choose the
missing terms out of the given
alternatives.

ACEGI, JLNPR, SUWYA, ?,
KMOQS

A. LBGI

B. ADIFH

C. YWXAC

D. BDFHJ

49.

50.

TS T 3T €A -
A. TisH
B. e
C. gt

D. Is1

frferRad yes T, FuimTar e
S fafir= g faw e 2 S ueh = s1fees
T2 QW & St R (7) ST gRTie T
feq e ferepedt # | W U MY

ACEGI, JLNPR, SUWYA, ?,
KMOQS

A. LBGI
B. ADIFH
C. YWXAC

D. BDFHJ
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51 The figure given on the left hand Sl = oré afie &t vié arrepfer bt Wk aterr

side in each of the following ST 3 e wrer w21 et (1), (2)
uestions is folded to form a box. . . . .
) (3) i (4) & & o7 it <6 < o e
Choose from the alternatives
% GHH B

(1), (2), (3) and (4) the boxes that is
similar to the box formed. A

A

D :
: \Z

vV
~) 3

1B @
| U 3) (4
3) (4 A daero
A. 2only
B. %hdd 2 IR 4
B. 2and 4 only
C. ad 2 3R 3
C. 2and 3 only
D. ad 1 3R 2
D. 1and 2 only
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52. Which sector is not included in

secondary sector of Indian
Economy?

A. Manufacturing

B. Electricity, Gas and Water
supply

C. Construction

D. Mining and Quarry

53. With which two states is the 53.

‘Namsai Declaration’ related?
A. Assam, Arunachal Pradesh
B. West Bengal, Tripura

C. Manipur, Nagaland
D

. Sikkim, Assam

54 Which is the Chhattisgarh.state’s 4.

first FIFA (Federation kternational
de Football Association) accredited
synthetic football ground with
running track stadium?

A. Shaheed Veer Narayan Singh
Stadium, Raipur

B. Digvijay Stadium, Rajnandgaon
C. Sersa Stadium, Bilaspur

D. Indira Priyadarshini Stadium,
Jagdalpur, Chhattisgarh

52.

AT 3refeaeel o fgdieeh & § i
T YL Mo e 27

A. fafmior
B. fo=rd, 4, Stet gl
C. fmior

D. T4 Ud 3cg

“ITHETS TN KT Goer fora T U= 9
27

A._3TEH, STEUTTEE JasT
B . e, frowr
C. HUfiqE, AFTIvS
D. fufosrm, stem

SATEE TQTT T TEell HItT (FESEH
ST Sl peslicl THITHEIH) |
Tl U6 e feeh Besiel uss fae
T &oF wefeam hiF |1 22

A. e S A fiE wefeaw, T

B. feftasm wfeaw, tsmiema

C. sEn wefeam, foramagy

D. gfeu el wefeaw, streay,
UG
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55.

56.

Study the following figure and
answer the questions given below

A 1
3/ 512\
5

[ ]—> Trained nurses
O —> Married population

/\ —>Nurses in hospital

By which number, the trained
unmarried nurses in the hospital are
represented?

A 6
B. 5
C. 7
D. 4

In which temple of Chhattisgarh
construction of temple corridor is in
progress?

A. Danteshwari Temple,
Dantewada

B. Mahamaya Temple, Ratanpur

C. Maa Bamleshwari Temple,
Dongargarh

D. Mahamaya Temple, Raipur

55.

56.

FFTTRa SATRT 3T TET L 3K
et faw 7T el o S E

A\ 1
3/ [5]Z\

Y

[]— ufefea

O — fyarfea e

A\ —> e 1@
AT | iTferd SAforanfea 44t &l
foRen e © quita ST 82
A. 6
B. 5
C. 7
D. 4

eiterTe o for Hiet 7 At wiier
ST ST 1Y =t T&T 87

A. Zaad Hid, daarer
B. WM AT, TR
C. Hi smeredl wfey, smre

D. HEMET HfeT, T
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57. Which five year plan is running in ST, Fdam 8, IRa § 1 €t derata e

India at present? TA T2
th .
AL A. Tt
B. 12t .
B. sl
C. 13" .
C. atedl
D. None of these
D. 394 ¥ IS el
58. |n which article of the constitution 58.  giferer 3 forg argesse U Hiferh
the right to move the Supreme Court SAfererr st Yafdd s & foe gai=a
fo_r the gnforcement of fundamental T B Tt O T SARET
Rights is guaranteed?
S foa T 32
A. Article 13
A. Wf 13
B. Article 32
. B. 3188 32
C. Article 14 °
D. Article 21 C. o173 14
D. 3=e% 21
59. Vir Narayan Singh was the 59.  ofix Arrror fife et & SiER 47
Zamindar of which place?
A R
A. Kanker
B. Khairagarh B. '
C. Ratanpur C. W@
D. Sonakhan D. €@
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60.  How many National Parks are there 60. oo § wefteTe  forae T a2
in Chhattisgarh at present?

A. Three AT
B. Two B.
C. Five C.
D. None of them D. T4 ¥ hig &l
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61.

62.

PART - 111

General Hindi &
Chhattisgarhi Language of
General Knowledge

I Y1eQiTT ST fohE STe8 3 Tget JATHT

A. I
B. 3@l

C.

D. fa=rsor

‘TGN 6 WA o6 TTT Tk A M
Hehd ®-

A. e
B. A

C. JI&

D. 3=

63.

64.

A &=t v
BAEITET WTHT &hT ATHT [

T8 IR A T S — H Al et
4T 9E B-

A. qRT o

B. @ wifoss

C\STeqHE wias

D. 0 & & Tl

I g AT M TRI & — AT H FaAH
5

A. YA 9o

B. e geam

C. JST=h ga-TH

D. e g™
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65.  srferes forg o1 b - 68.  Fga =t i weg 2-

A. T A. T

B. &9 B. =T
C. 3! C. FusT
D. i D. ufar

66.  efterTet “3iiTT 3158 T ST BT 2- 69. R wredt 3 wue wrfe 7 & 3 e B-

A. T 4 STe o forg A TR

B. @ H dd STeH o forg B. ANTEG

C. FSRIH qd STaH o [T C. &¢

D. fesan # a1 2rer & forw D. foderr

67.  a@EET ¥ T wtrET A 70 qfmror Sreres fereor 2-

A. T=Hfd A. TehleT

B. Hfgrmn B. waem

C. s C. SHEANTE

D. I§THT D. Tt
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1. zfq s 4@ weme o a1l grar 2- 74

A. 3H9dr T
B. T shiedr
C. el arEdt

D. S[aT & T

72 gy 1 s @ A R g &

2
A. FeEmes gd4m

o (o
B. MSHTe 994™

C. TEYaTae qom

D. H&FYITEh Qo

73. WW%‘
A. H 3T 9 AT HLT E|
B. I8 &M 3T W R 3
C. &AL fRrareh w31 Ld <l

D. H9 Uk 99 doh k! IateTr shil

ey a1 ot 2-
A. T&
B wma
C. |

D. A&H
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PART - IV
General English

6. Which of the following sentences is
grammatically correct?

A. Before the police came, the thief
had run away.

B. Before the police had come, the
thief had run away.

C. Before the police had come, the
thief ran away.

D. Before the police came, the thief
ran away.

7. These books oOf ------ are very 9.

interesting.

Supply the correct form*ef-the

78.

T ST

The possible passive voice of the
given statement is/are :-

‘Who starts the pump?’

A. By whom was the pump started?
B. By who was the pump started?
C. By whom is the pump started?

D\ By who is the pump started?

Which of the given words is
correctly spelled?

A. maintenence

pronoun.
A. them B. maintenance
B. theirs C. mantenence
C. their D. mentenence
D. They
SPACE FOR ROUGH WORK / T% & & fo13 siire
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80.

81.

82.

Ms. Swati lives in Durg and teaches
at a college in Bhilai. She ------ from
Durg to Bhilai every day.

A. ups and downs

B. does up and down
C. goes up and down
D

. commutes

The ------ brings milk at 7 O’clock
in the morning.

Fill in the blank with the correct
expression.

A. milkwoman
B. milkmaid
C. milklady

D. Aand B

My ------ have come home for Teeja.
Supply the correct expression

A. sisters-in-law
B. sister-in-laws
C. sisters-ins-laws
D

. sisters-in-laws

83.

84.

85.

There are many spotty ------ in the
flock.

Supply the correct expression.
A. sheep
B. sheeps
C. ships

D. Lamb

What is the antonym of ‘coarse?’
A. uneven

B prickly

C. rough

D. fine

The feminine gender of ‘monk’ is-
A. hermit

B. nun
C. sage
D

. priestess
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86.

87.

PART -V

General Mathematics

If 4:9::12:x, thenx =

A. 25

B. 24

C. 28

D. 27

A sum of amount doubles itself in 4
years at compound interest. That
amount will become eight times\of
itself at the same rate of intereSt in
the following time-

A. 18 years

B. 12 years

C. 16 years

D. 24 years

86.

HTHTT T

gfe 4:9::12:x, A x =

A. 25
B. 24
C. 28

D. 27

IS IUNT ThMeg AT § 4 I
ST BT STt 1 =78 TR 370 & 8 T
36t sITST Y S e ww | 81 SRl

A. 1838
B. 129%

C. 16a8
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88.

89.

90.

A square is drawn on each side of an
equilateral triangle. If each side of
the triangle is 8 cm, then find the
area of the whole figure.

A. 195+16+/2cm?
B. 149+17/3cm?
C. 192+16+/3cm?

D. 165+ 35.3cm?

On what principal the simple interest
at the rate of 6% per annum will

be one rupee per day if the year is
not a leap year?

A. Rs. 4832
B. Rs. 6430
C. Rs. 7500
D. Rs. 5840

The average of 5 consecutive natural
numbers is M. If the next three
natural numbers are also included,
how much more than M will the
average of these 8 numbers be?

A 2
B. 1
C. 14
D. 15

88.

89.

90.

Ueh GHETE st ol Tedsh i1 o &t
EERIRRIRIERE RS ARSI
At &1 A1 FFUT ST T &R TSy

A. 1954162 a2
B. 149 +17/3 %2
C. 192 +16/3 3?2

D. 165+ 353392

foRer TeTer <61 | ST 62%
if¥er saTT Shl S O ek 9T fdfed
I e I8 99 oy 9y T 82

A. 4832%.
B. 6430,
C. 7500 %.
D. 5840%.
5 YTehfeh TSl T Ed M g1 afe
3T o1 Tehereh EeATl ot wftufera

foraT ST, 1 37 8 GEATSTY T 3Ted
M ¥ fordaT 31fres 22

A 2
B. 1
C. 14
D. 15
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91.

92.

93.

Average of 12 numbers is 15. If a
number 41 is also included, then

what will be the average of these
13 numbers?

A. 16
B. 18
C. 19
D. 17

At what rate of simple interest will a
sum of amount double in 16 years?

A. 5.25%
B. 4.80%
C. 6.5%
D. 6.25%

If the price of oil increasgs\sy’90%,
then tell by what percentthe use of
oil should be reduced so that the
expenditure does not increase?

A. 47%

B. e
4715 %

C. 50L
5015 %

D. 423L%

91.

92.

93.

12 GTATST T 4T 15 B IS Teh T&AT
41 st A} 3iErer o fofam S, ar s 13
AT ST 36 FT B2

A. 16

B. 18
C. 19
D. 17

TTROT SATST Shl ohe ST TS &
16 31 H 2 THT &1 SIRAT?

A 5.25%
B. 4.80%
C. 6.5%
D. 6.25%

AT A BT HT 90% ¢ TN, AN A3
for ot =1 R fora wferera e o
SIDACRCER: K| e Kb

A 471%

B. 471
47L%

7
C. 5055%

D. g42ir
42:5%
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94, 94,
The ratio of 2-°:2%* is equal to- 24220 o7 ST S R
A. 31 A 31
B. 2.1 B 2:]
C. 13
C. 13
D. 1:2
D. 1:2
95. 59 of A’s income is equal to 15% 9. A TR H 5% BH AT F 15% F
of B’s income and 10% of B’s ST T B & AT T 10% C i
income is equal to 20% of C’s ST 3 20% F ST fE C Y 3
income. If C’s income is Rs. 2,000, EQEN N 3
then what is the total income of all 2000 ®. =T, F S fopertt 2
hree?
three AMN4,000 %,
A. Rs. 14,000
B. 16,000 ®.
B. Rs. 16,000
C. 18,000%.
C. Rs. 18,000
D. Rs. 12,000 D. 12,000%.
96. A purchased an article and §gJdbit to 96. A ue oreq i wiliadT & A9 B % 20%
B at a loss of 20% and B_sold it to F 21 9T ST ® 37 B 39 9%d
C at a gain of 20%. C purchases the C Y 20% 3 < T AT C\:‘sl%—crﬁ
article for ~ Rs. 480. For what 3 3 A% ﬁ%@?
price (in Rs.) A had purchased the 480 % H TIEAT &l A 7 9] Kl
article? TR Gr{ieT oT?
A. Rs. 500 A. 5009,
B. Rs. 450 B. 450%
C. Rs. 420
C. 420%.
D. Rs. 480
D. 480%.
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97. What must be added to
8 :21::13: 31 so that the sum
becomes proportional?

A 3
B. 5
C. 7
D. 12

98.

A. 0.00595 approx.
B. 0.00625 approx.
C. 0.0625 approx.
D. 0.0595 approx.

99.

by 25%, the quantity of cloth
consumption increased by 20%.
Then what will be the effect on
gross income of the shop?

A. 5% increase
B. 5% decrease
C. 10% increase

D. 10% decrease

What decimal of a week is an hour?

When the price of cloth4yas reduced

97.

98.

99.

8:21::13: 31 HRTISIIT fh
AT SHTATC I STT?

A 3
B. 5
C. 7
D. 12

Ush 99TE § Ueh 5 hl S99 Id § A
foRaHT 22

A0.00595 AT
B. 0.00625 <
C. 0.0625 T

D. 0.0595 &7

STeT hUS Sl shiadi T 25% hT FHT
FS T @I 20% ¢ STl 8, Y
GRER oh FeT 3T T AT THTE TS

A. 5% ST
B. 5% T
C. 10% s
D. 10% =
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100. 1fp:q:r=1:2:4,then 100. gfyp:q:r=1:2:4,7

\5p2 +02 +r2 is equal to- J5p? +q% + 12 T -

A. 8 A. 8
D. 4r D. 4r
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54 | SET A

I 3ifeRe e T AT 29 arferehay 3iek : 100
Time for making answers : 2 Hours Maximum Marks : 100
e :
1. 38T qikaest & fe swr g -

wrr | forewor FATH | Ik

WRT-1 | AR U aTeT [IehTH TH T & Sraterd JIT-T0 U hIshy 20 20

WTT-2 | ATHTT WA TR T0IaT U ATHT=T {719 40 40

V-3 | BT (&=a Ud SErTET ATNT S 98T 71 15 15

T4 | AT 3PS 10 10

OWT-5 | ATHT 0T 15 15

T T 1 37k T & | Tt T o it 21

2. T I, 9 T OMR I (ATEEiie) uX siferd SRR |
3. TeId I 3ifeha A WX 1/4 ek TS AT |
4. Tore off TE 6 HeTHI AT AN T TS WIATSEA T Sl SLFRT A & |
5. OMR 3TME (ITTETIIE) T TANT THld THT THT i3 AHTTLUTHT T hy/ald 0@ T8 W S a1
It dre ot Rrerae anfe ug W frees woreasae T 8 9 |
Note :
1. This question paper consists of foNowing parts namely :-
Part Particular Total Marks
Question
Part-1 | Women and Child Revelopment Department Related 20 20
Schemes and Programmes
Part-2 | General Mental Aptitude & General Knowledge 40 40
Part-3 | General Hindi & Chhattisgarhi Language of General 15 15
Knowledge
Part-4 | General English 10 10
Part-5 | General Mathematics 15 15
Each question carries 1 mark. All questions are compulsory.
2. Indicate your answers on the OMR Answer-Sheet provided.
3. 1/4 mark will be deducted for each wrong Answer.
4. Use of any type of calculator or log table and mobile phone is prohibited.
5. While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does

not get torn or spoiled due to folds and wrinkles.
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